

GOVT. VOCATIONAL HIGHER SECONDARY SCHOOL SHISHU ANANTA MAHAVIDYALAYA

BALIPATNA, KHORDHA, (ODISHA) Pin - 752102 E-mail: shishuananta.mahavidyalaya@gmail.com

1 -44- 11-		
Letter No		Date\

QUOATION CALL NOTICE

No 33/SAM

Date.08. 2.2022

Sealed quotations are invited from reputed farms having valid TIN and GST number for the supply of sports equipments (list attached) for the Vocational wing of Govt. Vocational Higher Secondary School, Balipatna, Khordha as per vide letter No.2803/SS(K) dated 27.10.2021 of DEO,Khordha.

The quotations must reach the undersigned within five days from the date of this notification. There will be no compromise with the quality of the product.

Details of the items are enclosed herewith for ready reference.

PRINCIPAL

Copy to Guard files /Adm. Bursar/Accounts Bursar/Accountant cum H.C/Co-ordinator IQAC for information.

PRINCIPAL



<u>DISTRICT PROJECT OFFICE,</u> <u>SAMAGRA SHIKSHA, KHORDHA</u>.



	Letter No
From:	
	Smt. Bandana Mohapatra, OES – I (ST), DEO-cum-District Project Coordinator, Samagra Shiksha, Khordha.
To	
	All Block Education Officers, Khordha.
Sub:	Release of Sports Grant to Govt. schools along with guidelines for implementing sports activities in all Govt. schools.
Ref:	Letter No. 9182, dtd.28.09.2021 of Addl Director (Planning), OSEPA.
Madar	m/Sir,
1177 n	With reference to the subject and letter cited above it is to inform you that Sports grant 5,000/- for PS & Rs.10,000/- for UPS & Rs. 25,000/- for HS has been released to Govt. managed los. of (594 PS + 391 UPS+192 HS) schools. The guideline for implementing sports activities rt. elementary schools is enclosed herewith.
level a	You are requested to communicate the same to all HMs through CRCCs and take appropriate as per the guidelines at your level and incur expenditure observing all due formalities at school and ensure procurement of qualitative products. The above grant must be utilized by end of other, 2021 and UCs must be submitted by 15 th of January, 2022 positively.
Encl: A	Yours faithfully, As above
Direct 1	
	DEO-cum-District Project Coordinator, Samagra Shiksha, Khordha
	Memo No. 2804 / Date 27-10-4 Copy submitted to the Collector cum Chairperson, Khordha for favour of kind information.
	DEO-cum-District Project Coordinator,
informa	Memo No/ Date/ Date
*	DEO-cum-District Project Coordinator,
	Samagra Shiksha, Khordha

Guidelines for Sports Grant under Samagra Shiksha Khele India - Khile India

Background

An Integrated Scheme on School Education i.e. Samagra Shiksha has been launched to universalise quality school education, w.c.f. financial year 2018-19. The scheme envisages 'education' in a holistic perspective and as a continuum from Pre-Primary, Primary, Upper 'education' and Secondary to Higher Secondary levels. The Scheme, therefore, attempts to provide, an integrated/composite school system from pre- school to higher secondary level. This will facilitate the transition of children across various levels of school education and will aid in promoting children to complete school education. The vision of the Scheme is to ensure inclusive and equitable quality education from pre-school to senior secondary stage in accordance with the Sustainable Development Goal (SDG) for Education.

In the scheme, under the Sports and Physical Education component, sports equipment are to be provided. Expenditure for meeting expenses on procuring sports equipment for indoor & outdoor games in convergence with Department of Sports is also to be made from this component. The provisions under the scheme for Sports and Physical Education in Government schools are as under:

Up to Rs.5,000 for Primary school per annum

Up to Rs.10,000 for upper primary per annum

Up to Rs.25, 000 for Secondary and Senior Secondary per annum

The Scheme provides annual recurring school composite grant for all Government Schools for the replacement of non-functional school equipment and for incurring other recurring costs such as consumables for play materials, sports equipment, laboratories, electricity charges, internet, water, teaching aids etc. It also provides for annual maintenance and repair of existing school building, toilets and other facilities to upkeep the infrastructure in good condition. The amount of grant varies from Rs. 25,000 to Rs. 1,00,000 per annum depending upon the number of students in the school.

Guidelines Regarding Sports Equipments

(a) List of sports equipment – An indicative list of age appropriate sports equipments for government schools has been prepared and is at Annexure-I (Videos on the use of most of the recommended sports equipment is available on youtube). This however is only an indicative list and not an exhaustive list. The States/UTs may if they so desire, procure items from beyond this list subject to its actual requirement being certified by the head of school. However, the sport specific equipments and props may be chosen by the schools, based on availability of infrastructure in the school including availability of playfield etc. Schools may also be encouraged to include traditional/regional games of the respective State/Region, the low /no cost equipments may be procured at local level for these sports/games. The State & UTs will also need to maintain the sports equipments and have them in a workable position. For this periodic review maybe done and record be maintained of workable equipment, repairable equipment, write off equipment and new items to be purchased to maintain the required stock.

Suggested List of Sports Equipment for SSC & HSC (Class 9-12) for INR 25,000/- Budget

Equipment	Images	Usage	Grades	Indicative Price per Unit (in Rs.)	Qty Suggested	Total Cost (in Rs.)
Skipping Ropo		Used in Skipping	Grades 9 - 12	100	6	600
Shot Put (Rubber)	- V	Used for Shotput.	Grades 9 - 12	330	4	1320
Discuss (Rubber)		Used for Discuss Throw,	Grades 9 - 12	330	4	1320
Badminton Racket		Used in Badminton. Helps in development of Striking Skill and hand eye coordination	Grades 9 - 12	500	6	3000
Badininton Shuttle	P	Used in Badminton	Grades 9 - 12	30	20	600
Wooden cricket bat - Size 6		Used in Cricket.	Grades 9 - 12	265	4	1060
Tennis Ball		Used in Cricket. Builds fundamentals skills like catching & throwing.	Grades 9 - 12	45	20	900
Throwball		Used in Throwball.	Grades 9 - 12	375	2	750
PU volleyball - Size 4		Used in Volleyball.	Grades 9 - 12	320	3	960
Volleyball net		Used in Volleyball.	Grades 9 - 12	500	1	500

Handball Size		Used in Handball	Grades 9 - 12	390	2	780
Basketball - Size 7	*	Used in Basketball.	Grades 9 - 12	370	2	740
Rugby ball - Senior	(Ca)	Used in recreational games. Builds hand eye coordination.	Grades 9 - 12	260	2	520
PU hand stitched football - Size 5		Used in Football.	Grades 9 - 12	425	4	1700
Pop Up Football goal post Big		Portable Football goal post for small sided games without goal keepers	Grades 9 - 12	625	2	1250
Football goal post 6 feet x 3.5 feet		Portable Football goal post for small sided games with goal keepers	Grades 9 - 12	1600	2	3200
Coot pump		Used to inflate the balls like Football, Basketball, etc.	Grades 9 - 12	640	2	1280
irst Aid Kit	692	Used in conduct FIRST AID during minor injuries.	Grades 9 - 12	1300	1	1300
rishce		Used to play the game of Ultimate Frisbee. Can also be used for recreational games. Builds hand eye coordination.	Grades 9 - 12	75	2	150
licer cone		Used for ground marking, Good choice for all sports - football, basketball, Kho Kho, Kabaddi, etc.	Grades 9 - 12	10	40	400

Agility ladder		Used to build agility.	Grades 9 - 12	240	2	480
9" step hurdle		Used in agility and jumping drills. Develops Locomotor skills	Grades 9 - 12	74	6	444
12" step hurdle		Used for agility and jumping drills. Develops Locomotor skills	Grades 9 - 12	80	6	480
Relay batons		Used in relay races.	Grades 9 - 12	74	3	222
Marking cones with numbers 1 to 9		Used to mark boundaries and set up training courses	Grades 9 - 12	32	9	288
Marking Cone 12"		Used to mark boundaries and set up training courses	Grades 9 - 12	44	4	176
Nylon bibs - Green	s t d	1	Grades 9 - 12	50	11	550
		Total			INR	24970/-